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(1).

∫∫
D

xy2 dx dy,Ù¥D��Ô�y2 = 2xÚ��2x = 1¤��«�;

(2).

∫ 1

0

dx

∫ √4−x2

√
1−x2

e−x
2−y2dy +

∫ 2

1

dx

∫ √4−x2

0

e−x
2−y2dy;

(3). �(r, θ)´²¡�4�IX§¦­�r = sin 3θ�¤«��¡È¶

(4).

∫∫∫
x2+y2+z2≤1

[
(x+ y + z)2 +

y log(x2 + y2 + z2 + 1)

x2 + y2 + z2 + 1

]
dx dy dz;

(5).

∮
Γ

(xy + yz + xz)ds,Ù¥Γ´¥¡x2 + y2 + z2 = 1Ú²¡x+ y + z = 0���;

(6).

∫∫
Σ

(x+ y + z) dSÙ¥Σ´e�¥¡x2 + y2 + z2 = 1, z ≤ 0;

(7).

∫∫
Σ

xdydz + ydzdx+ zdxdy

(x2 + y2 + z2)3/2
,Ù¥Σ´

{x2

a2
+
y2

b2
+
z2

c2
= 1
}
§���	{�.
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�!Áyµ

√
2− 1 ≤ 1

π

∫∫
x2+y2≤1

dx dy√
1 + sin2 x+ sin2 y

≤ 1.

n!�D´���I²¡þd��x = 0, y = 0�­�sinhx cos y = 1, coshx sin y =

1�¤�«�§¦È©∫∫
D

(sinh2 x+ cos2 y) sin 2x sin 2y dxdy.

o!¦¥¡{x2 + y2 + (z − R)2 = R2}�ý�I¡ax2 + by2 = z2 (a, b > 0)�eÜ
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Ê !�¼êϕ(x)äkëY��ê§3?¿Ø7�:�ØL�:�{ü1w4­

�Γþ§­�È©

∮
Γ

2xydx+ ϕ(x)dy

x4 + y2
= 0. Á¦(1).¼êϕ(x); (2). �C´7�:

�{ü1w��4­�§¦

∮
C

2xydx+ ϕ(x)dy

x4 + y2
.

8!�Ω ⊂ R3´Gaussúª¥�4«�§êþ|f ∈ C2(Ω)3Ω¥??Ø�"§�

÷v^�

∇ · (f∇f) = af, ∇f · ∇f = bf,

Ù¥a, b´~ê"ÁO�

∫
∂Ω

∂f

∂~n
dσ§ùp~n ´∂Ω�	{�þ"

Ô!��þ|~v = (2x+ yz, xz− 3y2, 1 + xy), (x, y, z) ∈ R3"�¯�þ|~v´Ä�k

³|ºe´§¦~v���³¼ê"


